CH 105 SI

Session 4

Changes of State:

1. Define the following:
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2. True or false: the heat of fusion and heat of vaporization depend on temperature.
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Specific Heat:

1. The equation for specific heat is: SH=heat/(mass*change in Temperature). Write the units for

each variable in this equation:
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5. How much heat must be absorbed by 375 grams of water to raise its temperature by 25° C?
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f silver can be heated from 25.0° Cto 50.0° C by the addition of 2825 J? The specific
mass O
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3. What
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Calorimeter:

1. What is the purpose of a calorimeter?
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A piece of chocolate changes the temperature of 1307 g of water from 28.5 degrees

to 67.4 degrees Celsius. How many kcals does the piece of chocolate have?
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